Pre-Calc 12 Solving Trig Equations — Review Worksheet Name: igh ItI'QD S
Part I
Solve each equation. Answers should be exact. Show all steps to receive full marks.

1. Solve each equation over the domain 0 < x < 2.
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2. Solve each equation over the domain —m < x < 7.
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3. Determine the general solution of each equation.
a) 4cos?x—3=0 b) 2cos?x—cosx—1=0
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4. Solve each equation over the domain 0 < x < 2m.

a) cosx +V3sinx =0
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5. Solve each equation over the domain 0 < x < 2.

a) cosx +1 = 2sin?x

cosx+ { = 2(1-cos™x)
cosxX +{ = 2-2008™X

b) V2sin2x —2sinx =0
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¢) 3sinx+cos2x—2=0
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Pre-Calc 12 Solving Trig Equations — Review Worksheet Name:
Part I1
Solve each equation. Answers should be exact. Show all steps to receive full marks.

1. Solve each equation over the domain 0 < x < 2m. Then state the general solution.
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2. Solve each equation over the domain 0 < x < 2m. Then state the general solution.
a) sin 7x cos 5x — cos 7x sin5x = —1 b) cosZ2xcosx —sin2xsinx =0 !
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